Empty S9 Trolley 4732418

532 859 532
|| some o
e @° ® 9 [
ol |e ¢ ¢ ¢o| |o o ollv 2 0
e @° ® 9 o_0O
) * 9 q
[ ]
[ ]
Eﬂe .q%
'] ® 4
'] ®
'] [ ]
° ®
[+} [}
4
Lo
=
(e}
— [ ]
“ i ]
R _ST NG
o (o] o] [o}
o
=-oMCONICIE
579 579
= | a
o [aN]
‘ \ o~ | | ~
o [ap]

604

604




- s0NIC

equipment
4732418 - Empty Trolley S9
47572 - S9 top plastic cover (left or right)

321211 - Bolts M6x20

47214 - Lock & Key
47210 - Key
Key No.-0001-0150

4732418-Black body of 32"trolley

47574 - S9 Left bumper (front or back) 320174 - Bolts M6x16

£
<wsas

P S

N 47522 - Black paper holder
v EP

cascccscsassss

X

°

47519 - Black can holder

321043 - Bolts M6x12

47517 - S9 smalldrawer _—

N 47575 - S9 Right bumper (front or back)
e ®"  ——————— 324008 - Washer

\s 324005 - Spring washer(28)
321024 - Bolts(M8x20)

47518 - S9 big drawer with logo /

47216- Right drawer rall

47209F - Fix



	4732418
	图纸1
	工程图视图1
	工程图视图2
	工程图视图3
	工程图视图4
	工程图视图5
	工程图视图6
	工程图视图7


	4732418 S9

